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2
9

2 2 5
9

.4








( )Cos   

4 2
9

5
9

  Ans10








.1



















Cos









arcSin
1
2

3
2

.2


















arcSin









Sin 

7 
6


6

.3


















arcSin

-1
2



6

X [Page = 0003] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX
:
:



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM5/1-6300109-00004XX
 TrigonometryTest01 Answers for No.9036

, ,  Ans1























.1  .2
3 
4

.3


4

.4
5 
6

.5
3 
2

.6
5 
3

       Ans2








.1

1
2

.2
-1
2

.3 
2
2

  Ans3








, , , , ,( )sin A

2
9

( )cos A
77
9

( )tan A
2 77
77

( )csc A
9
2

( )sec A
9 77
77

( )cot A
77
2

  Ans4












, , , , ,( )sin A

x

49 x2
( )cos A

7

49 x2
( )tan A

x
7

( )csc A
49 x2

x
( )sec A

49 x2

7
( )cot A
7
x

, ,  Ans5 







Ans.1 [ ], , ,y 3 ( )sin  2  3 [ ],-3 3
Ans.2 [ ], , ,y ( )cos 2   1 [ ],-1 1    





















M
a
t
h

  Ans6








,.1











3 
2

270 .2








( )-315  

7 
4

, ,  Ans7








,.1 [ ]Quadrant Q4 .2









( )Cot  

3
3

   





















M
a
t
h

, ,  Ans8























.1


















Sin



3








Cos



12








Cos



3








Sin



12



















Sin



4
2
2

.2


















Sin

19 
12

 
2
4

2 3
4

   





































M
a
t
h
@
M
U
T

  Ans9























.1








( )Cos 

2 2
3

.2








( )Sin  

15
4

.3








( )Sin   

1
12

2 15
6

.4








( )Cos   

2
6

15
12

  Ans10








.1



















arcSin
1
2


6

.2


















arcCos









Cos

7 
3


3

.3


















Tan









arcCos

3
2

3
3

X [Page = 0004] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX
:
:



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM5/1-6300109-00005XX
 TrigonometryTest01 Answers for No.9037

, ,  Ans1























.1


2
.2
7 
6

.3


4

.4  .5
2 
3

.6
7 
4

       Ans2








.1

-1
2

.2
2
2

.3
-1
2

  Ans3








, , , , ,( )sin A

4 65
65

( )cos A
7 65
65

( )tan A
4
7

( )csc A
65
4

( )sec A
65
7

( )cot A
7
4

  Ans4












, , , , ,( )sin A

25 x2

5
( )cos A

x
5

( )tan A
25 x2

x
( )csc A

5

25 x2
( )sec A
5
x

( )cot A
x

25 x2

, ,  Ans5























Ans.1








, , ,y ( )sin 5 

2 
5
1 [ ],-1 1

Ans.2








, , ,y 

1
6

( )sin 4 


2
1
6








,

-1
6
1
6

   





















M
a
t
h

  Ans6








,.1











3 
2

270 .2








( )-240  

4 
3

, ,  Ans7








,.1 [ ]Quadrant Q4 .2









( )Sin  

3
2

   





















M
a
t
h

, ,  Ans8























.1


















Sin 

19 
12


2
4

2 3
4

.2








( )Sin 40 ( )Cos 10 ( )Cos 40 ( )Sin 10









( )Sin 30
1
2

   





































M
a
t
h
@
M
U
T

  Ans9























.1








( )Cos 
4
5

.2








( )Sin  

3
2

.3








( )Cos    

2
5

3 3
10

.4








( )Sin    

2 3
5

3
10

  Ans10








.1









( )arcSin -1 


2

.2


















Tan









arcSin

3
2

3 .3


















arcCos









Cos

10 
3

2 
3

X [Page = 0005] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX
:
:



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM5/1-6300109-00006XX
 TrigonometryTest01 Answers for No.9138

, ,  Ans1























.1
3 
2

.2
5 
6

.3
7 
4

.4  .5
4 
3

.6


6

       Ans2








.1 

3
2

.2 
3
2

.3
2
2

  Ans3








, , , , ,( )sin A

7
8

( )cos A
15
8

( )tan A
7 15
15

( )csc A
8
7

( )sec A
8 15
15

( )cot A
15
7

  Ans4












, , , , ,( )sin A

6

36 x2
( )cos A

x

36 x2
( )tan A
6
x

( )csc A
36 x2

6
( )sec A

36 x2

x
( )cot A

x
6

, ,  Ans5
















Ans.1 [ ], , ,y 3 ( )sin  2  3 [ ],-3 3

Ans.2








, , ,y ( )sin 3 

2 
3
1 [ ],-1 1

   





















M
a
t
h

  Ans6








,.1












4

45 .2








60


3

, ,  Ans7








,.1 [ ]Quadrant Q3 .2









( )Cos  

26
26

   





















M
a
t
h

, ,  Ans8























.1


















Sin

13 
12

 
2 3
4

2
4

.2








( )Sin 42 ( )Cos 12 ( )Cos 42 ( )Sin 12









( )Sin 30
1
2

   





































M
a
t
h
@
M
U
T

  Ans9























.1








( )Cos 

3 5
7

.2








( )Sin 

3
2

.3








( )Sin    

1
7

3 5 3
14

.4








( )Cos    

3 5
14

3
7

  Ans10








.1



















Tan









arcSin 

2
2

-1 .2


















arcTan









Tan

11 
6



6

.3








( )arcTan 1


4

X [Page = 0006] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX
:
:



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM5/1-6300109-00007XX
 TrigonometryTest01 Answers for No.9602

, ,  Ans1























.1
4 
3

.2  .3


3

.4
5 
6

.5
3 
4

.6
3 
2

       Ans2








.1 

2
2

.2
1
2

.3
-1
2

  Ans3








, , , , ,( )sin A

3
7

( )cos A
2 10
7

( )tan A
3 10
20

( )csc A
7
3

( )sec A
7 10
20

( )cot A
2 10
3

  Ans4












, , , , ,( )sin A

x2 49
x

( )cos A
7
x

( )tan A
x2 49
7

( )csc A
x

x2 49
( )sec A

x
7

( )cot A
7

x2 49

, ,  Ans5























Ans.1








, , ,y ( )cos 3 

2 
3
1 [ ],-1 1

Ans.2








, , ,y 6









sin



4
8  6 [ ],-6 6

   





















M
a
t
h

  Ans6








,.1












6

30 .2 ( )180 

, ,  Ans7








,.1 [ ]Quadrant Q4 .2









( )Cot  

4 105
105

   





















M
a
t
h

, ,  Ans8























.1


















Sin

13 
12

 
2 3
4

2
4

.2


















Sin



3








Cos



12








Cos



3








Sin



12



















Sin



4
2
2

   





































M
a
t
h
@
M
U
T

  Ans9























.1








( )Sin 

2 6
7

.2








( )Cos  

3
2

.3








( )Cos    

5 3
14

6
7

.4








( )Sin    

6 3
7

5
14

  Ans10








.1



















arcSin

3
2


3

.2


















Tan









arcSin
1
2

3
3

.3


















arcSin









Sin

17 
6


6

X [Page = 0007] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX
:
:



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM5/1-6300109-00008XX
 TrigonometryTest01 Answers for No.9616

, ,  Ans1























.1
5 
3

.2
3 
2

.3


3

.4 0 .5
7 
4

.6
7 
6

       Ans2








.1

1
2

.2
2
2

.3
-1
2

  Ans3








, , , , ,( )sin A

6
7

( )cos A
13
7

( )tan A
6 13
13

( )csc A
7
6

( )sec A
7 13
13

( )cot A
13
6

  Ans4












, , , , ,( )sin A

x2 9
x

( )cos A
3
x

( )tan A
x2 9
3

( )csc A
x

x2 9
( )sec A

x
3

( )cot A
3

x2 9

, ,  Ans5























Ans.1








, , ,y ( )cos 3 

2 
3
1 [ ],-1 1

Ans.2








, , ,y 

1
5

( )sin 6  
1
3
1
5








,

-1
5
1
5

   





















M
a
t
h

  Ans6








,.1











2 
3

( )-120  .2








( )-150  

5 
6

, ,  Ans7 [ ],.1 [ ]Quadrant Q3 .2 [ ]( )Sec   5    





















M
a
t
h

, ,  Ans8























.1


















Sin

23 
12

 
2 3
4

2
4

.2


















Cos

2 
5









Cos



15








Sin

2 
5









Sin



15


















Cos



3
1
2

   





































M
a
t
h
@
M
U
T

  Ans9























.1








( )Sin 

5
3

.2








( )Cos  

35
6

.3








( )Cos    

35
9

5
18

.4








( )Sin    

1
9

5 35
18

  Ans10








.1









( )Sin ( )arcTan -1 

2
2

.2








( )arcTan 1


4

.3


















arcCos









Cos

4 
3

2 
3

X [Page = 0008] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX
:
:



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM5/1-6300109-00009XX
 TrigonometryTest01 Answers for No.10152

, ,  Ans1























.1
5 
4

.2
11 
6

.3


4

.4


2
.5
4 
3

.6 
       Ans2









.1 

3
2

.2 
2
2

.3
1
2

  Ans3








, , , , ,( )sin A

77
9

( )cos A
2
9

( )tan A
77
2

( )csc A
9 77
77

( )sec A
9
2

( )cot A
2 77
77

  Ans4












, , , , ,( )sin A

2
x

( )cos A
x2 4
x

( )tan A
2

x2 4
( )csc A

x
2

( )sec A
x

x2 4
( )cot A

x2 4
2

, ,  Ans5
















Ans.1








, , ,y 4 ( )cos 6 



3
4 [ ],-4 4

Ans.2 [ ], , ,y 4 ( )cos  2  4 [ ],-4 4
   





















M
a
t
h

  Ans6








,.1











7 
4

( )-315  .2 ( )180 

, ,  Ans7








,.1 [ ]Quadrant Q2 .2









( )Csc 

5 2
7

   





















M
a
t
h

, ,  Ans8























.1








( )Cos 195  

2
4

2 3
4

.2








( )Cos 70 ( )Cos 10 ( )Sin 70 ( )Sin 10









( )Cos 60
1
2

   





































M
a
t
h
@
M
U
T

  Ans9























.1








( )Cos 

3
2

.2








( )Sin  

5
3

.3








( )Sin    

5 3
6

1
3

.4








( )Cos   

3
3

5
6

  Ans10








.1 ( )( )arcSin 0 0 .2



















arcSin









Sin

17 
6


6

.3


















Tan









arcSin

3
2

3

X [Page = 0009] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX
:
:



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM5/1-6300109-00010XX
 TrigonometryTest01 Answers for No.11738

, ,  Ans1























.1
3 
2

.2
11 
6

.3
4 
3

.4 0 .5
7 
4

.6


3

       Ans2








.1

2
2

.2
-1
2

.3
1
2

  Ans3








, , , , ,( )sin A

5
8

( )cos A
39
8

( )tan A
5 39
39

( )csc A
8
5

( )sec A
8 39
39

( )cot A
39
5

  Ans4












, , , , ,( )sin A

25 x2

5
( )cos A

x
5

( )tan A
25 x2

x
( )csc A

5

25 x2
( )sec A
5
x

( )cot A
x

25 x2

, ,  Ans5
















Ans.1 [ ], , ,y 4 ( )sin  2  4 [ ],-4 4

Ans.2








, , ,y ( )cos 4 



2
1 [ ],-1 1

   





















M
a
t
h

  Ans6








,.1 ( ) 180 .2









150

5 
6

, ,  Ans7








,.1 [ ]Quadrant Q2 .2









( )Cos  

26
26

   





















M
a
t
h

, ,  Ans8























.1


















Cos

19 
60









Cos



15








Sin

19 
60









Sin



15



















Cos



4
2
2

.2








( )Sin 255  

2
4

2 3
4

   





































M
a
t
h
@
M
U
T

  Ans9























.1








( )Cos 

5
3

.2








( )Sin  

35
6

.3








( )Cos   

5
18

35
9

.4








( )Sin    

5 35
18

1
9

  Ans10








.1



















Sin









arcTan

3
3

1
2

.2


















arcSin









Sin

11 
6



6

.3








( )arcTan -1 


4

X [Page = 0010] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX
:
:



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM5/1-6300109-00011XX
 TrigonometryTest01 Answers for No.11754

, ,  Ans1























.1
7 
6

.2  .3


4

.4


2
.5
4 
3

.6
7 
4

       Ans2








.1

-1
2

.2
1
2

.3
2
2

  Ans3








, , , , ,( )sin A

21
5

( )cos A
2
5

( )tan A
21
2

( )csc A
5 21
21

( )sec A
5
2

( )cot A
2 21
21

  Ans4












, , , , ,( )sin A

x
4

( )cos A
16 x2

4
( )tan A

x

16 x2
( )csc A
4
x

( )sec A
4

16 x2
( )cot A

16 x2

x

, ,  Ans5
















Ans.1








, , ,y 3 ( )cos 6 



3
3 [ ],-3 3

Ans.2 [ ], , ,y 6 ( )cos  2  6 [ ],-6 6
   





















M
a
t
h

  Ans6








,.1











3 
4

135 .2








90


2

, ,  Ans7








,.1 [ ]Quadrant Q4 .2









( )Tan  

5
2

   





















M
a
t
h

, ,  Ans8























.1


















Sin 



12
 

2 3
4

2
4

.2








( )Cos 33 ( )Cos 12 ( )Sin 33 ( )Sin 12









( )Cos 45

2
2

   





































M
a
t
h
@
M
U
T

  Ans9























.1








( )Cos 
4
5

.2








( )Sin 

65
9

.3








( )Sin    

4
15

4 65
45

.4








( )Cos    

16
45

65
15

  Ans10








.1



















arcCos









Cos 

5 
6

5 
6

.2 ( )( )arcCos 1 0 .3


















Tan









arcCos 

3
2


3
3

X [Page = 0011] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX
:
:



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM5/1-6300109-00012XX
 TrigonometryTest01 Answers for No.11841

, ,  Ans1























.1
3 
2

.2
3 
4

.3
2 
3

.4


3
.5
11 
6

.6 
       Ans2









.1

-1
2

.2 
2
2

.3
-1
2

  Ans3








, , , , ,( )sin A

7 113
113

( )cos A
8 113
113

( )tan A
7
8

( )csc A
113
7

( )sec A
113
8

( )cot A
8
7

  Ans4












, , , , ,( )sin A

x
5

( )cos A
25 x2

5
( )tan A

x

25 x2
( )csc A
5
x

( )sec A
5

25 x2
( )cot A

25 x2

x

, ,  Ans5
















Ans.1 [ ], , ,y 5 ( )sin  2  5 [ ],-5 5

Ans.2








, , ,y 5 ( )cos 3  

2
3
5 [ ],-5 5

   





















M
a
t
h

  Ans6








,.1 ( ) 180 .2









135

3 
4

, ,  Ans7








,.1 [ ]Quadrant Q2 .2









( )Sin 

17
17

   





















M
a
t
h

, ,  Ans8























.1


















Sin

5 
12









Cos



12








Cos

5 
12









Sin



12


















Sin



2
1

.2


















Sin 



12
 

2 3
4

2
4

   





































M
a
t
h
@
M
U
T

  Ans9























.1








( )Sin 

21
5

.2








( )Cos  

55
8

.3








( )Sin    

21 55
40

3
20

.4








( )Cos    

55
20

3 21
40

  Ans10








.1



















Sin









arcCos 

3
2

1
2

.2


















arcCos









Cos 

2 
3

2 
3

.3 ( )( )arcCos 1 0

X [Page = 0012] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX
:
:



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM5/1-6300109-00013XX
 TrigonometryTest01 Answers for No.11842

, ,  Ans1























.1


6
.2
2 
3

.3 0

.4
3 
2

.5
5 
4

.6
7 
6

       Ans2








.1

2
2

.2
3
2

.3 
3
2

  Ans3








, , , , ,( )sin A

5 29
29

( )cos A
2 29
29

( )tan A
5
2

( )csc A
29
5

( )sec A
29
2

( )cot A
2
5

  Ans4












, , , , ,( )sin A x ( )cos A 1 x2 ( )tan A

x

1 x2
( )csc A
1
x

( )sec A
1

1 x2
( )cot A

1 x2

x

, ,  Ans5
















Ans.1








, , ,y

1
6

( )cos 4 


2
1
6








,

-1
6
1
6

Ans.2 [ ], , ,y 2 ( )sin  2  2 [ ],-2 2
   





















M
a
t
h

  Ans6








,.1












6

30 .2








( )-135  

3 
4

, ,  Ans7








,.1 [ ]Quadrant Q2 .2









( )Tan  

5 14
28

   





















M
a
t
h

, ,  Ans8


















.1 ( )( )Cos 100 ( )Cos 10 ( )Sin 100 ( )Sin 10 ( )( )Cos 90 0

.2


















Cos

17 
12

 
2 3
4

2
4

   





































M
a
t
h
@
M
U
T

  Ans9























.1








( )Sin 

2 2
3

.2








( )Cos  

3
2

.3








( )Cos    

3
6

2
3

.4








( )Sin    

2 3
3

1
6

  Ans10








.1



















arcTan









Tan

17 
6



6

.2


















Cos









arcSin

-1
2

3
2

.3


















arcTan

3
3


6

X [Page = 0013] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX
:
:



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM5/1-6300109-00014XX
 TrigonometryTest01 Answers for No.11901

, ,  Ans1























.1  .2
7 
4

.3


6

.4
5 
6

.5
3 
2

.6
5 
3

       Ans2








.1 

2
2

.2
-1
2

.3
-1
2

  Ans3








, , , , ,( )sin A

3 73
73

( )cos A
8 73
73

( )tan A
3
8

( )csc A
73
3

( )sec A
73
8

( )cot A
8
3

  Ans4












, , , , ,( )sin A

5

25 x2
( )cos A

x

25 x2
( )tan A
5
x

( )csc A
25 x2

5
( )sec A

25 x2

x
( )cot A

x
5

, ,  Ans5























Ans.1








, , ,y 4









cos



2
4  4 [ ],-4 4

Ans.2








, , ,y ( )cos 3 

2 
3
1 [ ],-1 1

   





















M
a
t
h

  Ans6








,.1











5 
3

300 .2








30


6

, ,  Ans7








,.1 [ ]Quadrant Q4 .2









( )Cos 

2
2

   





















M
a
t
h

, ,  Ans8























.1








( )Sin 42 ( )Cos 12 ( )Cos 42 ( )Sin 12









( )Sin 30
1
2

.2


















Cos

13 
12

 
2
4

2 3
4

   





































M
a
t
h
@
M
U
T

  Ans9























.1








( )Cos 

55
8

.2








( )Sin 

11
6

.3








( )Sin    

5
16

55 11
48

.4








( )Cos    

5 55
48

11
16

  Ans10








.1



















Cos









arcSin

-1
2

3
2

.2


















arcCos 

3
2

5 
6

.3


















arcSin









Sin 

5 
6



6

X [Page = 0014] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX
:
:



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM5/1-6300109-00015XX
 TrigonometryTest01 Answers for No.11947

, ,  Ans1























.1
5 
3

.2


6
.3
7 
4

.4  .5
5 
6

.6
3 
2

       Ans2








.1

-1
2

.2
-1
2

.3 
2
2

  Ans3








, , , , ,( )sin A

5 89
89

( )cos A
8 89
89

( )tan A
5
8

( )csc A
89
5

( )sec A
89
8

( )cot A
8
5

  Ans4












, , , , ,( )sin A

x
6

( )cos A
36 x2

6
( )tan A

x

36 x2
( )csc A
6
x

( )sec A
6

36 x2
( )cot A

36 x2

x

, ,  Ans5
















Ans.1








, , ,y 

1
6

( )sin 5  
2
5
1
6








,

-1
6
1
6

Ans.2 [ ], , ,y 4 ( )cos  2  4 [ ],-4 4
   





















M
a
t
h

  Ans6








,.1











3 
2

270 .2








225

5 
4

, ,  Ans7








,.1 [ ]Quadrant Q3 .2









( )Csc  

10
3

   





















M
a
t
h

, ,  Ans8























.1








( )Cos 33 ( )Cos 12 ( )Sin 33 ( )Sin 12









( )Cos 45

2
2

.2


















Sin 

11 
12

 
2 3
4

2
4

   





































M
a
t
h
@
M
U
T

  Ans9























.1








( )Sin 

39
8

.2








( )Cos  

3
2

.3








( )Cos    

5 3
16

39
16

.4








( )Sin    

39 3
16

5
16

  Ans10








.1



















Cos









arcSin

2
2

2
2

.2


















arcSin









Sin

7 
6



6

.3


















arcCos 

3
2

5 
6

X [Page = 0015] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX
:
:



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM5/1-6300109-00016XX
 TrigonometryTest01 Answers for No.11989

, ,  Ans1























.1
7 
4

.2  .3
4 
3

.4


2
.5



6
.6
7 
6

       Ans2








.1 

2
2

.2 
3
2

.3
-1
2

  Ans3








, , , , ,( )sin A

8 113
113

( )cos A
7 113
113

( )tan A
8
7

( )csc A
113
8

( )sec A
113
7

( )cot A
7
8

  Ans4












, , , , ,( )sin A

1
x

( )cos A
x2 1
x

( )tan A
1

x2 1
( )csc A x ( )sec A

x

x2 1
( )cot A x2 1

, ,  Ans5























Ans.1








, , ,y ( )sin 4 



2
1 [ ],-1 1

Ans.2








, , ,y 3 ( )cos 6 



3
3 [ ],-3 3

   





















M
a
t
h

  Ans6








,.1











3 
4

135 .2








( )-150  

5 
6

, ,  Ans7








,.1 [ ]Quadrant Q2 .2









( )Cos  

3 10
10

   





















M
a
t
h

, ,  Ans8























.1








( )Cos ( )-345  

2
4

2 3
4

.2


















Cos



9








Cos

5 
36









Sin



9








Sin

5 
36



















Cos



4
2
2

   





































M
a
t
h
@
M
U
T

  Ans9























.1








( )Cos 

21
5

.2








( )Sin  

2 14
9

.3








( )Sin    

2 21 14
45

2
9

.4








( )Cos   

21
9

4 14
45

  Ans10








.1









( )arcTan  3 


3

.2


















Tan









arcSin

2
2

1 .3


















arcCos









Cos 

3 
4

3 
4

X [Page = 0016] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX
:
:



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM5/1-6300109-00017XX
 TrigonometryTest01 Answers for No.11996

, ,  Ans1























.1  .2
7 
4

.3


6

.4
3 
2

.5
4 
3

.6
11 
6

       Ans2








.1 

2
2

.2
-1
2

.3
1
2

  Ans3








, , , , ,( )sin A

2
5

( )cos A
21
5

( )tan A
2 21
21

( )csc A
5
2

( )sec A
5 21
21

( )cot A
21
2

  Ans4












, , , , ,( )sin A

16 x2

4
( )cos A

x
4

( )tan A
16 x2

x
( )csc A

4

16 x2
( )sec A
4
x

( )cot A
x

16 x2

, ,  Ans5























Ans.1








, , ,y 6









cos



2
4  6 [ ],-6 6

Ans.2








, , ,y 4 ( )sin 6 



3
4 [ ],-4 4

   





















M
a
t
h

  Ans6








,.1











3 
2

270 .2








240

4 
3

, ,  Ans7








,.1 [ ]Quadrant Q4 .2









( )Sin 

-4
5

   





















M
a
t
h

, ,  Ans8























.1








( )Sin 255  

2
4

2 3
4

.2


















Cos

11 
60









Cos



15








Sin

11 
60









Sin



15



















Cos



4
2
2

   





































M
a
t
h
@
M
U
T

  Ans9























.1








( )Sin 

3
2

.2








( )Cos  

2 6
5

.3








( )Cos    

6
5

3
10

.4








( )Sin    

6 3
5

1
10

  Ans10








.1



















arcSin









Sin

13 
6


6

.2


















arcSin

-1
2



6

.3


















Sin









arcCos 

3
2

1
2

X [Page = 0017] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX
:
:



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM5/1-6300109-00018XX
 TrigonometryTest01 Answers for No.12889

, ,  Ans1























.1
2 
3

.2
7 
4

.3
11 
6

.4


6
.5  .6



2

       Ans2








.1 

2
2

.2
1
2

.3
-1
2

  Ans3








, , , , ,( )sin A

4 2
9

( )cos A
7
9

( )tan A
4 2
7

( )csc A
9 2
8

( )sec A
9
7

( )cot A
7 2
8

  Ans4












, , , , ,( )sin A

 16 x2

x
( )cos A
4
x

( )tan A
 16 x2

4
( )csc A

x

 16 x2
( )sec A

x
4

( )cot A
4

 16 x2

, ,  Ans5























Ans.1








, , ,y 2 ( )cos 4 



2
2 [ ],-2 2

Ans.2








, , ,y ( )cos 4 



2
1 [ ],-1 1

   





















M
a
t
h

  Ans6








,.1











3 
2

270 .2








( )-30  


6

, ,  Ans7








,.1 [ ]Quadrant Q2 .2









( )Cot  

77
2

   





















M
a
t
h

, ,  Ans8























.1








( )Cos 70 ( )Cos 10 ( )Sin 70 ( )Sin 10









( )Cos 60
1
2

.2


















Sin 



12
 

2 3
4

2
4

   





































M
a
t
h
@
M
U
T

  Ans9























.1








( )Sin 

5
3

.2








( )Cos  

3
2

.3








( )Sin    

5 3
6

1
3

.4








( )Cos    

3
3

5
6

  Ans10








.1 ( )( )arcSin  2 undefined .2



















Tan









arcCos

3
2

3
3

.3


















arcCos









Cos

7 
3


3

X [Page = 0018] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX
:
:



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM5/1-6300109-00019XX
 TrigonometryTest01 Answers for No.12890

, ,  Ans1























.1


3
.2
3 
2

.3
2 
3

.4 0 .5
5 
4

.6
7 
6

       Ans2








.1

-1
2

.2
3
2

.3
2
2

  Ans3








, , , , ,( )sin A

2 10
7

( )cos A
3
7

( )tan A
2 10
3

( )csc A
7 10
20

( )sec A
7
3

( )cot A
3 10
20

  Ans4












, , , , ,( )sin A

7
x

( )cos A
x2 49
x

( )tan A
7

x2 49
( )csc A

x
7

( )sec A
x

x2 49
( )cot A

x2 49
7

, ,  Ans5























Ans.1








, , ,y 3 ( )sin 5 

2 
5
3 [ ],-3 3

Ans.2








, , ,y

1
6

( )cos 2  
1
6








,

-1
6
1
6

   





















M
a
t
h

  Ans6








,.1












2

90 .2








( )-45  


4

, ,  Ans7 [ ],.1 [ ]Quadrant Q4 .2 [ ]( )Csc   37    





















M
a
t
h

, ,  Ans8























.1


















Cos 

13 
12

 
2
4

2 3
4

.2


















Cos



3








Cos



12








Sin



3








Sin



12



















Cos



4
2
2

   





































M
a
t
h
@
M
U
T

  Ans9























.1








( )Cos 

2 6
5

.2








( )Sin 

3 5
7

.3








( )Cos    

4 6
35

3 5
35

.4








( )Sin   

6 6 5
35

2
35

  Ans10








.1



















arcSin









Sin 

7 
6


6

.2


















arcTan

3
3


6

.3


















Tan









arcCos 

3
2


3
3

X [Page = 0019] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX
:
:



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM5/1-6300109-00020XX
 TrigonometryTest01 Answers for No.12891

, ,  Ans1























.1 0 .2
7 
4

.3
5 
6

.4


3
.5
3 
2

.6
5 
3

       Ans2








.1 

2
2

.2
-1
2

.3
1
2

  Ans3








, , , , ,( )sin A

3 13
13

( )cos A
2 13
13

( )tan A
3
2

( )csc A
13
3

( )sec A
13
2

( )cot A
2
3

  Ans4












, , , , ,( )sin A

6
x

( )cos A
 36 x2

x
( )tan A

6

 36 x2
( )csc A

x
6

( )sec A
x

 36 x2
( )cot A

 36 x2

6

, ,  Ans5























Ans.1








, , ,y 

1
2

( )cos 4 


2
1
2








,

-1
2
1
2

Ans.2








, , ,y 4 ( )cos 6  

1
3
4 [ ],-4 4

   





















M
a
t
h

  Ans6








,.1 ( ) 180 .2









( )-150  

5 
6

, ,  Ans7








,.1 [ ]Quadrant Q2 .2









( )Cos  

2 2
3

   





















M
a
t
h

, ,  Ans8























.1








( )Cos 35 ( )Cos 5 ( )Sin 35 ( )Sin 5









( )Cos 30

3
2

.2


















Sin

13 
12

 
2 3
4

2
4

   





































M
a
t
h
@
M
U
T

  Ans9























.1








( )Cos 
3
5

.2








( )Sin 

33
7

.3








( )Sin   

3 33
35

16
35

.4








( )Cos    

12
35

4 33
35

  Ans10








.1



















arcCos









Cos 

2 
3

2 
3

.2


















arcSin

3
2


3

.3


















Tan









arcCos 

3
2


3
3

X [Page = 0020] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX
:
:



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM5/1-6300109-00021XX
 TrigonometryTest01 Answers for No.12917

, ,  Ans1























.1
3 
2

.2
5 
6

.3
5 
4

.4
4 
3

.5


4
.6 

       Ans2








.1

3
2

.2
2
2

.3
-1
2

  Ans3








, , , , ,( )sin A

5 61
61

( )cos A
6 61
61

( )tan A
5
6

( )csc A
61
5

( )sec A
61
6

( )cot A
6
5

  Ans4












, , , , ,( )sin A

5
x

( )cos A
x2 25
x

( )tan A
5

x2 25
( )csc A

x
5

( )sec A
x

x2 25
( )cot A

x2 25
5

, ,  Ans5 







Ans.1 [ ], , ,y 3 ( )cos 2   3 [ ],-3 3
Ans.2 [ ], , ,y 5 ( )sin  2  5 [ ],-5 5    





















M
a
t
h

  Ans6








,.1











3 
2

270 .2








( )-45  


4

, ,  Ans7








,.1 [ ]Quadrant Q3 .2









( )Sin  

7 2
10

   





















M
a
t
h

, ,  Ans8























.1


















Sin



9








Cos

5 
36









Cos



9








Sin

5 
36



















Sin



4
2
2

.2








( )Cos ( )-255   

2 3
4

2
4

   





































M
a
t
h
@
M
U
T

  Ans9























.1








( )Sin 

5
3

.2








( )Cos 

33
7

.3








( )Sin    

8
21

5 33
21

.4








( )Cos   

2 33
21

4 5
21

  Ans10








.1



















arcCos 

3
2

5 
6

.2








( )Sin ( )arcTan  3 

3
2

.3


















arcCos









Cos 


6


6

X [Page = 0021] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX
:
:



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM5/1-6300109-00022XX
 TrigonometryTest01 Answers for No.13099

, ,  Ans1























.1
3 
2

.2
7 
4

.3 

.4


3
.5
11 
6

.6
2 
3

       Ans2








.1

-1
2

.2 
2
2

.3
3
2

  Ans3








, , , , ,( )sin A

3 5
7

( )cos A
2
7

( )tan A
3 5
2

( )csc A
7 5
15

( )sec A
7
2

( )cot A
2 5
15

  Ans4












, , , , ,( )sin A

x

49 x2
( )cos A

7

49 x2
( )tan A

x
7

( )csc A
49 x2

x
( )sec A

49 x2

7
( )cot A
7
x

, ,  Ans5























Ans.1








, , ,y ( )cos 5 

2 
5
1 [ ],-1 1

Ans.2








, , ,y 6









sin

 

3
6 6 [ ],-6 6

   





















M
a
t
h

  Ans6








,.1











11 
6

330 .2 ( )180 

, ,  Ans7








,.1 [ ]Quadrant Q3 .2









( )Sin  

37
37

   





















M
a
t
h

, ,  Ans8























.1


















Cos

5 
9









Cos



18








Sin

5 
9









Sin



18


















Cos



2
0

.2








( )Sin ( )-105   

2
4

2 3
4

   





































M
a
t
h
@
M
U
T

  Ans9























.1








( )Cos 
4
5

.2








( )Sin  

39
8

.3








( )Sin   

3
8

39
10

.4








( )Cos   

1
2

3 39
40

  Ans10








.1



















Sin









arcCos 

2
2

2
2

.2








( )arcCos 0


2

.3


















arcSin









Sin

11 
6



6

X [Page = 0022] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX
:
:



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM5/1-6300109-00023XX
 TrigonometryTest01 Answers for No.13100

, ,  Ans1























.1
5 
3

.2


2
.3
11 
6

.4


4
.5
7 
4

.6 
       Ans2









.1 

3
2

.2
2
2

.3
3
2

  Ans3








, , , , ,( )sin A

6
7

( )cos A
13
7

( )tan A
6 13
13

( )csc A
7
6

( )sec A
7 13
13

( )cot A
13
6

  Ans4












, , , , ,( )sin A

x

x2 1
( )cos A

1

x2 1
( )tan A x ( )csc A

x2 1
x

( )sec A x2 1 ( )cot A
1
x

, ,  Ans5























Ans.1








, , ,y 2 ( )cos 6 



3
2 [ ],-2 2

Ans.2








, , ,y

1
4

( )cos 5 
2 
5
1
4








,

-1
4
1
4

   





















M
a
t
h

  Ans6








,.1












4

45 .2








( )-60  


3

, ,  Ans7








,.1 [ ]Quadrant Q2 .2









( )Tan  

4 105
105

   





















M
a
t
h

, ,  Ans8


















.1


















Cos 

13 
12

 
2
4

2 3
4

.2 ( )( )Cos 100 ( )Cos 10 ( )Sin 100 ( )Sin 10 ( )( )Cos 90 0
   





































M
a
t
h
@
M
U
T

  Ans9























.1








( )Sin 

11
6

.2








( )Cos  

21
5

.3








( )Sin    

11 21
30

1
3

.4








( )Cos    

21
6

11
15

  Ans10








.1 ( )( )arcCos -1  .2



















Tan









arcSin

2
2

1 .3


















arcSin









Sin

5 
6


6

X [Page = 0023] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX
:
:



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM5/1-6300109-00024XX
 TrigonometryTest01 Answers for No.13139

, ,  Ans1























.1
5 
4

.2


4
.3
3 
2

.4  .5
4 
3

.6
11 
6

       Ans2








.1 

2
2

.2
-1
2

.3
-1
2

  Ans3








, , , , ,( )sin A

7 85
85

( )cos A
6 85
85

( )tan A
7
6

( )csc A
85
7

( )sec A
85
6

( )cot A
6
7

  Ans4












, , , , ,( )sin A

9 x2

3
( )cos A

x
3

( )tan A
9 x2

x
( )csc A

3

9 x2
( )sec A
3
x

( )cot A
x

9 x2

, ,  Ans5























Ans.1








, , ,y ( )cos 5 

2 
5
1 [ ],-1 1

Ans.2








, , ,y 

1
4

( )cos 5 
2 
5
1
4








,

-1
4
1
4

   





















M
a
t
h

  Ans6








,.1











5 
3

( )-300  .2








( )-30  


6

, ,  Ans7








,.1 [ ]Quadrant Q2 .2









( )Tan  

3
3

   





















M
a
t
h

, ,  Ans8























.1


















Cos

11 
36









Cos



18








Sin

11 
36









Sin



18



















Cos



4
2
2

.2








( )Sin ( )-15   

2 3
4

2
4

   





































M
a
t
h
@
M
U
T

  Ans9























.1








( )Sin 

5
3

.2








( )Cos 

2 6
7

.3








( )Sin   

2 6 5
21

10
21

.4








( )Cos   

4 6
21

5 5
21

  Ans10








.1



















Tan









arcSin
1
2

3
3

.2








( )arcSin 1


2

.3


















arcSin









Sin

17 
6


6

X [Page = 0024] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX
:
:



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM5/1-6300109-00025XX
 TrigonometryTest01 Answers for No.13411

, ,  Ans1























.1
2 
3

.2
5 
4

.3 

.4


3
.5



2
.6
7 
6

       Ans2








.1 

2
2

.2
-1
2

.3
3
2

  Ans3








, , , , ,( )sin A

2 14
9

( )cos A
5
9

( )tan A
2 14
5

( )csc A
9 14
28

( )sec A
9
5

( )cot A
5 14
28

  Ans4












, , , , ,( )sin A

2

4 x2
( )cos A

x

4 x2
( )tan A
2
x

( )csc A
4 x2

2
( )sec A

4 x2

x
( )cot A

x
2

, ,  Ans5
















Ans.1 [ ], , ,y 5 ( )sin  2  5 [ ],-5 5

Ans.2








, , ,y ( )sin 3 

2 
3
1 [ ],-1 1

   





















M
a
t
h

  Ans6








,.1












3

60 .2








( )-135  

3 
4

, ,  Ans7








,.1 [ ]Quadrant Q2 .2









( )Tan  

5 39
39

   





















M
a
t
h

, ,  Ans8























.1


















Cos

11 
12

 
2
4

2 3
4

.2


















Cos

4 
15









Cos



15








Sin

4 
15









Sin



15


















Cos



3
1
2

   





































M
a
t
h
@
M
U
T

  Ans9























.1








( )Cos 

55
8

.2








( )Sin 

65
9

.3








( )Sin   

55 65
72

1
6

.4








( )Cos    

55
18

65
24

  Ans10








.1



















Tan









arcSin

2
2

1 .2


















arcCos

2
2


4

.3


















arcTan









Tan 

17 
6


6

X [Page = 0025] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX
:
:



XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX
> 


